ENRICH CUP AND SAUCER CHALLENGE

Imagine your parent has been having a clear—out in the house and has come across some
sets of old teacups and saucers. Instead of throwing them out, they decide to keep them to
use for a street party they hope to organise when the lockdown ends in the future.

There are four sets: a set of white, a set of red, a set of blue and a set of green.
In each set there are four cups and four saucers. So there are 16 cups and 16
saucers altogether.

Just for the fun of it, you decide to mix them around a bit so that there are 16
different-looking cup/saucer combinations laid out on the table in a very long
line.

So, for example:

a) there is a red cup on a green saucer but not another the same although there
is a green cup on a red saucer;
b) there is a red cup on a red saucer but that's the only one like it.

There are these 16 different cup/saucer combinations on the table and you think
about arranging them in a big square. Because there are 16 you realise that
there are going to be 4 rows with 4 in each row (or if you like, 4 rows and 4
columns).

So here is the challenge to start off this investigation. Place these 16 different
combinations of cup/saucer in this 4 by 4 arrangement with the following rules:-

1) In any row there must only be one cup of each colour;

2) In any row there must only be one saucer of each colour;

3) In any column there must only be one cup of each colour;
4) In any column there must be only one saucer of each colour.

Remember that these 16 cup/saucers are all different so, for example,
you CANNOT have a red cup on a green saucer somewhere and another
red cup on a green saucer somewhere else.

Hint:

Start with the central 4 squares having cups and saucers of the same colour
(white cup and white saucer in one square, green cup and green saucer in
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another square etc. Then, work your way outwards from there. You might find
it easiest to start with a drawing like the one below and colour in the inside
circle as the cup colour and the outer circle as the saucer colour.

There are different possible solutions. | will show you some of them next week.

Enjoy!
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